

County Distribution Detail Report through 04/03/2024

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	815	2,140	20	2,975	\$3,718.75	\$76.34	\$3,642.41	0.70	\$2,549.69
3/2024	9	0	0	9	\$11.25	\$0.33	\$10.92	0.70	\$7.64
							Entity Tota	l:	\$2,557.33
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$2,557.33
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,261	11,222	2,044	14,527	\$18,158.75	\$381.77	\$17,776.98	0.70	\$12,443.89
3/2024	259	1	0	260	\$325.00	\$7.94	\$317.06	0.70	\$221.94
							Entity Tota	l:	\$12,665.83
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$12,665.83
Bennett									. ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	805	1,217	3	2,025	\$2,531.25	\$56.54	\$2,474.71	0.70	\$1,732.30
							Entity Tota	l:	\$1,732.30
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$1,732.30
Bon Homme									·
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,416	4,319	79	5,814	\$7,267.50	\$147.18	\$7,120.32	0.70	\$4,984.22
							Entity Tota	l:	\$4,984.22

Adjustment: \$0.00

Entity Total:

Adjustment:

\$914.19 \$0.00

Total Amount: \$4,984.22

Brookir	ngs
---------	-----

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	8,556	23,772	1,332	33,660	\$42,075.00	\$902.81	\$41,172.19	0.70	\$28,820.53
3/2024	0	3	0	3	\$3.75	\$0.71	\$3.04	0.70	\$2.13
							Entity Tota	l:	\$28,822.66
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$28,822.66
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	4,972	28,931	3,152	37,055	\$46,318.75	\$1,001.17	\$45,317.58	0.70	\$31,722.31
3/2024	0	3	60	63	\$78.75	\$3.45	\$75.30	0.70	\$52.71
							Entity Tota	l:	\$31,775.02
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$31,775.02
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	2,026	4,025	88	6,139	\$7,673.75	\$155.88	\$7,517.87	0.70	\$5,262.51
3/2024	4	0	0	4	\$5.00	\$0.20	\$4.80	0.70	\$3.36
							Entity Tota	l:	\$5,265.87
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,265.87
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	524	545	2	1,071	\$1,338.75	\$32.77	\$1,305.98	0.70	\$914.19

Butte

Batte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,600	7,210	317	9,127	\$11,408.75	\$244.35	\$11,164.40	0.70	\$7,815.08
							Entity Tota	l:	\$7,815.08
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,815.08
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	535	1,393	17	1,945	\$2,431.25	\$50.01	\$2,381.24	0.70	\$1,666.87
							Entity Tota	l:	\$1,666.87
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,666.87
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	2,109	5,774	17	7,900	\$9,875.00	\$200.20	\$9,674.80	0.70	\$6,772.36
3/2024	6	5	0	11	\$13.75	\$1.49	\$12.26	0.70	\$8.58
							Entity Tota	l:	\$6,780.94
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$6,780.94
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	0	3,132	70	3,202	\$4,002.50	\$80.25	\$3,922.25	0.70	\$2,745.58
							Entity Tota	l:	\$2,745.58
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,745.58
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

2/2024	504	3,375	93	3,972	\$4,965.00	\$114.31	\$4,850.69	0.70	\$3,395.48
							Entity Tota	al:	\$3,395.48
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,395.48
City of Pierre, Hughe	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,144	11,809	1,962	14,915	\$18,643.75	\$384.83	\$18,258.92	0.70	\$12,781.24
3/2024	7	0	0	7	\$8.75	\$0.35	\$8.40	0.70	\$5.88
							Entity Tota	al:	\$12,787.12
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,787.12
City of Sioux Falls, L	incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,232	33,996	5,441	40,669	\$50,836.25	\$1,033.81	\$49,802.44	0.70	\$34,861.71
							Entity Tota	al:	\$34,861.71
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$34,861.71
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	966	2,524	74	3,564	\$4,455.00	\$98.48	\$4,356.52	0.70	\$3,049.56
3/2024	10	1	0	11	\$13.75	\$0.74	\$13.01	0.70	\$9.11
							Entity Tota	al:	\$3,058.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,058.67
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	778	8,057	793	9,628	\$12,035.00	\$259.33	\$11,775.67	0.70	\$8,242.97
							Entity Tota	al:	\$8,242.97

Adjustment:	\$0.00
Total Amount:	\$8,242.97

Entity Total:

Adjustment:

\$17,121.02

\$0.00

Coungion									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	3,050	20,947	3,167	27,164	\$33,955.00	\$754.86	\$33,200.14	0.70	\$23,240.10
3/2024	4	0	11	15	\$18.75	\$5.50	\$13.25	0.70	\$9.28
							Entity Tot	al:	\$23,249.38
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$23,249.38
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	743	985	442	2,170	\$2,712.50	\$57.17	\$2,655.33	0.70	\$1,858.73
3/2024	0	1	0	1	\$1.25	\$0.24	\$1.01	0.70	\$0.71
							Entity Tot	al:	\$1,859.44
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,859.44
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	2,691	6,737	52	9,480	\$11,850.00	\$267.99	\$11,582.01	0.70	\$8,107.41
3/2024	104	1	0	105	\$131.25	\$25.24	\$106.01	0.70	\$74.21
							Entity Tot	al:	\$8,181.62
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$8,181.62
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	2,734	15,579	1,660	19,973	\$24,966.25	\$518.91	\$24,447.34	0.70	\$17,113.14
3/2024	6	4	0	10	\$12.50	\$1.25	\$11.25	0.70	\$7.88

Total Amount:	\$17,121.02

Day

•									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,367	3,784	233	5,384	\$6,730.00	\$138.68	\$6,591.32	0.70	\$4,613.92
3/2024	313	0	0	313	\$391.25	\$7.83	\$383.42	0.70	\$268.39
							Entity Tota	al:	\$4,882.31
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,882.31
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,220	3,237	139	4,596	\$5,745.00	\$119.13	\$5,625.87	0.70	\$3,938.11
							Entity Tota	al:	\$3,938.11
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,938.11
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	972	2,258	7	3,237	\$4,046.25	\$83.97	\$3,962.28	0.70	\$2,773.60
3/2024	10	0	0	10	\$12.50	\$0.50	\$12.00	0.70	\$8.40
							Entity Tota	al:	\$2,782.00
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,782.00
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	876	3,114	145	4,135	\$5,168.75	\$105.01	\$5,063.74	0.70	\$3,544.62
3/2024	342	2	0	344	\$430.00	\$8.60	\$421.40	0.70	\$294.98
							Entity Tota	al:	\$3,839.60
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,839.60
Fall River									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	2,462	5,209	29	7,700	\$9,625.00	\$201.92	\$9,423.08	0.70	\$6,596.16
							Entity Tota	ıl:	\$6,596.16
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$6,596.16
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	599	1,603	53	2,255	\$2,818.75	\$57.00	\$2,761.75	0.70	\$1,933.23
3/2024	564	2	0	566	\$707.50	\$14.15	\$693.35	0.70	\$485.35
							Entity Tota	ıl:	\$2,418.58
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$2,418.58
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,140	5,888	607	7,635	\$9,543.75	\$225.91	\$9,317.84	0.70	\$6,522.49
							Entity Tota	ıl:	\$6,522.49
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$6,522.49
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,424	3,631	9	5,064	\$6,330.00	\$145.16	\$6,184.84	0.70	\$4,329.39
							Entity Tota	ıl:	\$4,329.39
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$4,329.39
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	851	1,395	3	2,249	\$2,811.25	\$57.17	\$2,754.08	0.70	\$1,927.86

Entity Total:	\$1,927.86
Adjustment:	\$0.00

Adjustment:

\$0.00

Total Amount: \$1,927.86

ŀ	1	а	n	n	i	r	

Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,145	4,230	150	5,525	\$6,906.25	\$141.45	\$6,764.80	0.70	\$4,735.36
3/2024	0	0	3	3	\$3.75	\$0.14	\$3.61	0.70	\$2.53
							Entity Tota	al:	\$4,737.89
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,737.89
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	544	2,714	380	3,638	\$4,547.50	\$99.41	\$4,448.09	0.70	\$3,113.66
3/2024	438	9	0	447	\$558.75	\$16.74	\$542.01	0.70	\$379.41
							Entity Tota	al:	\$3,493.07
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,493.07
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	645	3,244	83	3,972	\$4,965.00	\$113.11	\$4,851.89	0.70	\$3,396.32
3/2024	0	3	0	3	\$3.75	\$0.71	\$3.04	0.70	\$2.13
							Entity Tota	al:	\$3,398.45
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,398.45
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	590	845	1	1,436	\$1,795.00	\$46.25	\$1,748.75	0.70	\$1,224.13
							Entity Tota	al:	\$1,224.13

Total Amount:	\$1.224.13

Hughes

110.91100									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	488	3,253	328	4,069	\$5,086.25	\$142.86	\$4,943.39	0.70	\$3,460.37
3/2024	358	10	23	391	\$488.75	\$14.28	\$474.47	0.70	\$332.13
							Entity Tot	al:	\$3,792.50
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,792.50
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	2,249	5,480	79	7,808	\$9,760.00	\$198.00	\$9,562.00	0.70	\$6,693.40
3/2024	5	0	0	5	\$6.25	\$0.25	\$6.00	0.70	\$4.20
							Entity Tot	al:	\$6,697.60
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,697.60
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	540	1,060	12	1,612	\$2,015.00	\$40.81	\$1,974.19	0.70	\$1,381.93
3/2024	542	70	0	612	\$765.00	\$15.30	\$749.70	0.70	\$524.79
							Entity Tot	al:	\$1,906.72
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,906.72
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	533	921	92	1,546	\$1,932.50	\$39.52	\$1,892.98	0.70	\$1,325.09
							Entity Tot	al:	\$1,325.09
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,325.09
Jerauld									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	672	1,418	21	2,111	\$2,638.75	\$53.01	\$2,585.74	0.70	\$1,810.02
3/2024	532	2	0	534	\$667.50	\$13.35	\$654.15	0.70	\$457.91
							Entity Tota	ıl:	\$2,267.93
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$2,267.93
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	410	726	5	1,141	\$1,426.25	\$29.24	\$1,397.01	0.70	\$977.91
							Entity Tota	ıl:	\$977.91
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$977.91
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	751	4,041	291	5,083	\$6,353.75	\$143.05	\$6,210.70	0.70	\$4,347.49
3/2024	3	0	5	8	\$10.00	\$0.38	\$9.62	0.70	\$6.73
							Entity Tota	ıl:	\$4,354.22
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$4,354.22
_ake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,501	9,613	792	11,906	\$14,882.50	\$331.25	\$14,551.25	0.70	\$10,185.88
3/2024	0	4	0	4	\$5.00	\$0.95	\$4.05	0.70	\$2.84
							Entity Tota	ıl:	\$10,188.72
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$10,188.72
_awrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

2/2024	4,343	19,403	1,740	25,486	\$31,857.50	\$688.17	\$31,169.33	0.70	\$21,818.53
3/2024	0	2	37	39	\$48.75	\$2.17	\$46.58	0.70	\$32.61
							Entity Tota	al:	\$21,851.14
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$21,851.14
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,884	27,667	3,221	32,772	\$40,965.00	\$951.16	\$40,013.84	0.70	\$28,009.69
3/2024	2	2	116	120	\$150.00	\$5.88	\$144.12	0.70	\$100.88
							Entity Tota	al:	\$28,110.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$28,110.57
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	978	1,907	368	3,253	\$4,066.25	\$87.55	\$3,978.70	0.70	\$2,785.09
							Entity Tota	al:	\$2,785.09
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,785.09
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,200	3,228	274	4,702	\$5,877.50	\$133.80	\$5,743.70	0.70	\$4,020.59
3/2024	1,051	7	0	1,058	\$1,322.50	\$27.52	\$1,294.98	0.70	\$906.49
							Entity Tota	al:	\$4,927.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,927.08
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,483	4,567	78	6,128	\$7,660.00	\$157.80	\$7,502.20	0.70	\$5,251.54

							Entity Tota	ıl:	\$5,251.54
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,251.54
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	773	1,598	5	2,376	\$2,970.00	\$71.95	\$2,898.05	0.70	\$2,028.64
							Entity Tota	ıl:	\$2,028.64
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,028.64
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,738	20,742	971	23,451	\$29,313.75	\$634.23	\$28,679.52	0.70	\$20,075.66
3/2024	0	14	0	14	\$17.50	\$3.33	\$14.17	0.70	\$9.92
							Entity Tota	ıl:	\$20,085.58
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$20,085.58
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	499	778	28	1,305	\$1,631.25	\$32.95	\$1,598.30	0.70	\$1,118.81
							Entity Tota	ıl:	\$1,118.81
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,118.81
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	813	1,792	22	2,627	\$3,283.75	\$69.82	\$3,213.93	0.70	\$2,249.75
							Entity Tota	ıl:	\$2,249.75
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,249.75

Minnehaha

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	17,481	163,522	20,026	201,029	\$251,286.25	\$5,536.49	\$245,749.76	0.70	\$172,024.83
3/2024	8	26	149	183	\$228.75	\$19.42	\$209.33	0.70	\$146.53
							Entity Tota	al:	\$172,171.36
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$172,171.36
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	810	5,196	165	6,171	\$7,713.75	\$175.50	\$7,538.25	0.70	\$5,276.78
							Entity Tota	al:	\$5,276.78
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$5,276.78
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	12,189	90,857	10,179	113,225	\$141,531.25	\$3,071.24	\$138,460.01	0.70	\$96,922.01
3/2024	0	21	127	148	\$185.00	\$13.21	\$171.79	0.70	\$120.25
							Entity Tota	al:	\$97,042.26
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$97,042.26
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,522	2,282	7	3,811	\$4,763.75	\$106.61	\$4,657.14	0.70	\$3,260.00
3/2024	0	5	0	5	\$6.25	\$1.19	\$5.06	0.70	\$3.54
							Entity Tota	al:	\$3,263.54
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$3,263.54
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

2/2024	871	1,929	7	2,807	\$3,508.75	\$70.86	\$3,437.89	0.70	\$2,406.52
3/2024	870	3	0	873	\$1,091.25	\$22.04	\$1,069.21	0.70	\$748.45
							Entity Tota	al:	\$3,154.97
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,154.97
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	2,699	5,530	36	8,265	\$10,331.25	\$233.20	\$10,098.05	0.70	\$7,068.64
3/2024	1,859	2	5	1,866	\$2,332.50	\$68.51	\$2,263.99	0.70	\$1,584.79
							Entity Tota	al:	\$8,653.43
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$8,653.43
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	656	1,852	13	2,521	\$3,151.25	\$65.89	\$3,085.36	0.70	\$2,159.75
3/2024	0	1	0	1	\$1.25	\$0.24	\$1.01	0.70	\$0.71
							Entity Tota	al:	\$2,160.46
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,160.46
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,152	4,779	394	6,325	\$7,906.25	\$163.20	\$7,743.05	0.70	\$5,420.14
3/2024	194	3	0	197	\$246.25	\$5.10	\$241.15	0.70	\$168.81
							Entity Tota	al:	\$5,588.95
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,588.95
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	248	2,386	405	3,039	\$3,798.75	\$80.21	\$3,718.54	0.70	\$2,602.98

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,602.98
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	506	1,239	4	1,749	\$2,186.25	\$44.98	\$2,141.27	0.70	\$1,498.89
3/2024	511	10	0	521	\$651.25	\$13.03	\$638.22	0.70	\$446.75
							Entity Tota	al:	\$1,945.64
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,945.64
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	0	147	0	147	\$183.75	\$13.74	\$170.01	0.70	\$119.01
							Entity Tota	al:	\$119.01
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$119.01
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,918	4,194	8	6,120	\$7,650.00	\$156.85	\$7,493.15	0.70	\$5,245.21
							Entity Tota	al:	\$5,245.21
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,245.21
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,438	6,711	137	8,286	\$10,357.50	\$214.92	\$10,142.58	0.70	\$7,099.81
							Entity Tota	al:	\$7,099.81
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,099.81

Entity Total:

\$2,602.98

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,824	11,952	697	14,473	\$18,091.25	\$452.47	\$17,638.78	0.70	\$12,347.15
3/2024	0	0	13	13	\$16.25	\$0.59	\$15.66	0.70	\$10.96
							Entity Tota	ıl:	\$12,358.11
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$12,358.11
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	1,363	3,827	407	5,597	\$6,996.25	\$142.16	\$6,854.09	0.70	\$4,797.86
3/2024	428	11	0	439	\$548.75	\$11.19	\$537.56	0.70	\$376.29
							Entity Tota	ıl:	\$5,174.15
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$5,174.15
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2/2024	2,196	18,761	3,057	24,014	\$30,017.50	\$604.10	\$29,413.40	0.70	\$20,589.38
3/2024	5	0	3	8	\$10.00	\$1.59	\$8.41	0.70	\$5.89
							Entity Tota	ıl:	\$20,595.27
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$20,595.27
TOTALS	128,468	672,427	67,085	867,980	\$1,084,975.00	\$23,626.35	\$1,061,348.65		